Molh 202

(1-2) _
1) 4= ;+'C) 2* gl /)lflvva,mw{)(lkf
Given Y(-1) = 2 e ‘ YW=l noy -1,
At X = -1, v=2. 9 7
T goues 9 - | DY = fg)
I+ C € : 2
! (Y, = /Y-
=) 2+2C e =] — _ f Y d 1 ~1
t =) C\.... — 9’-{’ ij (82,_(?)/2
Thuo L VP 4as mlodon /0(7 -2 .
0 J _ 2 _
C}‘ _,Lé" T 9= éb‘*') — .(72_q
%) e *Cze_iﬂ/-c ¢, &| T nthion shmid By
9(1)_0 = C, e+, e — 0w mt ngluele Y=2F3 4

Yo =e= ce-c,é
5@«@ @w@fm ., C,

. —| _
() = ce=-Semc-0 e
mm(a)

—I

7)\4,1» C‘.\
E]:_,L-—

2.

E

-2 2

ee

- :,L
So b 12
) e _

el e
2

=€ —(2)

2
4

= fi2,9)

22) (14 y*) Y -

S
J
2
»3‘(71

‘of _
@j_ (‘*83)2‘

1

l+j

W Iy WCW@
)~ ).
|

(2,-3 mU moéw& 9=-3,
s fhe  (pslim 4 YM
}b\{/]/un/\ b\fbu LQ VLA’W
No Ut stbadin "
jWW
Recfow\ﬂz
Com’ra;»/\""jO' 3)


prepared by Prof. F. Zaman




